Regression model
OVENDRY mass (kg) =

Species | # of .
Spl |DSH

( 0.9304 x DSY ) +( 0.0571 x (DSHexp 2.6 ))
( 0.0819 x DSH) +( 0.3601 x (DSHexp 1.9 ))
( -0.1024 x DSH) +( 0.1502 x (DSHexp23) ) .
( 0.0627 x DSH ) +( 03091 x ( DSH exp1.9))

( 2.3624xDSH ) + ( 0.0035 x ( DSH exp34))

( 0.0573xDSH ) + ( 0.0643 x (DSH exp3.6))

( 0.1124x DSH ) +( 0.1238 x ( DSH exp24))

( 1.1725x DSH ) +(*0.0106 x (DSHexp3.0)) 0,97
( 04021 x DSH ) +( 0.5212 x (DSH exp 1.8))

(00755 x DSH ) + ( 0.1548 x ( DSH exp2.3))

( 0.1980x DSH ) + ( 0.2496 x ( DSH exp2.0)) 0,98

(02086 x DSH)) +( 0.0243 x ( DSH exp 2.7 )) 098
(-0.2370xDSH) +( 0.2727 x ( DSH exp 2.1 ) 092
( 0.0534x DSH ) +( 0.0013 x (DSHexp3.8)) 0,98
(103845 x DSH)) +( 0.0870 x ( DSH exp 2.9 )) 0.82
(00800 x DSH)) +( 0.0939 x ( DSH exp 2.3 )) 0,84
(100046 x DSH)) +( 0.0604 x ( DSH exp 2.4 )) /0.87
(01476 x DSH)) +( 0.0930 x ( DSH exp 2.3 )) joss
(10.9054x DSH ) +( 0.0805 x ( DSH exp 2.5 ) ) 089
(02483 xDSH) +( 0.2214 x ( DSH exp 2.1 )) 084
(0.1963x DSH) +( 0.3438 x ( DSH exp1.8)) lo.g8
( 0.0355xDSH) +( 0.2978 x (DSH exp 2.1 ) ) lo86
( 11750 xDSH)) +( 0.0444 x ( DSH exp 2.5 ) ) 095 |
(03587 x DSH)) +( 0.0989 % ( DSH exp 2.3 ) ) 0.95 ”‘
( 04960 x DSH)) +( 0.7262 x ( DSH exp 1.8 ) 099 ”
(0.7217x DSH ) +( 0.1601 x ( DSH exp 22)) 097
3| (02685 xDSH) +( 0.0492 x (DSH exp 2.3 ) ) 0.88 /
| (102685 xDSH) +( 0.0492 x (DSH exp 2.3 )) 0,88 !
17’ 43](0.2445 x DSH)+(0.2451 x (DSH exp 2.6 ))+(-0.1022x(DSH exp 2.8 ))/0.92
19] %[ (01638 x DSH) +( 0.0216 x ( DSH exp 24)) 10,89
2| 28 ( 04040 DSH) +( 0.0766 x (DSH exp 2.4 ) 0.96
10| 24| (0.4253x DSH) +( 0.005¢ x(DSHexp3.4)) l0.98
| 2/ (04380 xDSH) +( 0.1587x (DSH exp22)) Hog2
#7| (04861 xDSH)) +( 0.1659 x ( DSH exp 2.2 )) 078
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